UP Board Solutions for Class 6 Maths Chapter 13 FAYs
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Uy 1.
fFafaRaa ugi ¥ X, Y, Z &1 HF Aop1ferd |

ed:

(i) zA=70° 2B=72°,2C=Z

A < 3f: DI BT AT 180° BT 5 |
¢A+2B+2C=180

70+72+7Z=180

142 +72=180

Z=180-142

Z=38

3fd: 2Z = 38°

(ii) AACD |
¢+A=50°+2C=y,2.D=80°
2A+2C+ 2D =180°
50+y+80=180

130+y =180
y=180-130

y=50

TUT AABC H,
£A=40° 2B =x° 2C=45°
ZA+2B+2C=180°

40 +x°+45=180
85+x=180

x=180-85

x=95



(iii) ABCD ¥,

+CBD =55°, «.BDC =60°, «BCD = x
+CBD + «BCD + «BDC = 180°
55+x+60=180

115+x=180

x=180-115

X =65

ug 2.
TR &1 M J1d S|
A ' - A

(i) o D C (i)

(i) AABCH,
2A=3x°%£4B=60°dYT 2C=x°
A+ 2B+ 2C=180°
3x°+ 60 +x°=180

4x + 60 =180

4x =180-60

4x =120

x =30°

(i) AABC H,

A =2x°, 2B =3x"TdUYT 2LACD = 115°
£ACD, AABC & T STRT 10T B
2ACD = 2CAB + £ABC

115=2x"+ 3x°

5x°=115

x=23°



Uy 3.
fFafefEaa & x, Y &1 8 31d s

(i) 2ABC = x°, £ACB = 51°,TUT .CAD = 107°
AACD ¥, ~CAD STRI HIUT g |

3{d: 2CAD = £ABC + £ACB
107 =x°+51°

x =107 -51

X =56°

(i) AACD |, A = x°, 2B = 40°, 2.C = 107°
/A + 2B+ 2C=180°
x+40+ 107 =180
X+ 147 =180
x=180-147
x=33

GRI
X°+65+y°=180°
33+65+y=180
98 +y =180
y=180-98

y=82



Y 4.

AABCH 2B =72°, 2C = 64°, A P I1d HITOT|
od:

AABCH /B =72° £C=64° 2A=?
2A+2B+2C=180°

/A +72°+64°=180°

2A+136°=180°

2A=180°-136°

LA =44°

Uy 5.

Ife fet fHrySl Bt B0 3FUTd 3: 4 5 8, A B0 & F1d BioTC
od:

AYST o Il DIV BT AT 3:4: 5
T U8 el BT = 3x
WW:M

YT TERT BT = 5%

3X +4x + 5x = 180°

12x = 180°

x=15

3T UGAT B0 =3 x 15 = 45°

GIRT DI =4 x 15 = 60°

JUT AT B =5 x 15 = 75°
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o o AABD = ACDB o &1 SaR FAgifard dfctes SRl o ¥ T8} SR Bica 31y gRaeT R fafau|
D C

A B

(a) LA BT I B8 -

(i) B

(i) 2D

(i) 2C

IWR-

(iii) 2C



(b) YT AB &1 T Yo & |
(i) CD

(i) AD

(i) BC

3e-

(i) CD

(c) AD &1 T Yoll 8-
(i) CB

(i) CD

(iii) BA

3xiN-

(i) cB

(d) DB @ T YTl 3-
(i) BD

(ii) DC

(i) BC

33~

(i) BD
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TS wefl 6 & Tt = 4 e, 5 Tt SIR 6 et Yo a1 T YW DY /AT B, A A | F99 a1 J Ay Tafem g
IWR-

BT, gt Pryst gafmam g1

% 3.
Ifg AABC = APQR TUT AB = 3.2 ¥}, BC = 5 It 3R CA = 7 T &1, Y APQR Wt Hsraft ot Ay farfae?

S

AABC = APQR

AB = 3.2 9}, BC = 5 94t 3fR cA = 7 3t

Ff g1 Y TaiTa § ord: Td Yol sRIeR g1t
37T PQ = AB = 3.2 Y1 QR = BC = 5 I

RP = CA =7 9HI.

Y 4.
T Y BT =T YT o YT ) i< T Yomrail & R1aR & | T S (Y wafee 82
IR-

1, SF FAys gafem B
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Te Byl B 1 101 R By & i1 ST 107 & SRR &, ) a1 1 By 9ed gairad g1 82
33-

T, g By gafram e €

e

TS IS HTTH B0 130° H1 7, A &l B0 0 B RIS & | 37 €41 B0l bt AT J1d B |
S H
wﬁw%aﬁfaﬂmﬁm:x’
YST & T HI0T BTN = 180°
3fd: x + x +130°=180°

2x = 180°-130°

2x =50°

x=50°

x=25°

3{d: Y & Y G P10 = 25°, 25°

Uy 7.

T UG FAYS & & B0 SRR &, GHI 10T fha=-fba 31 % &2
Bd:

T FHBIO Y & G 10T = x°

3Hd:

X+X+90°=180°

2x = 180° - 90°

2x=90°

X =450

3(d: YN G| P10 = 45°, 45°

Y 8.
urTiahd o &, famg D, E, IS ABC &t YT AB 3R AC TR 39 UHR f&Ud § fdb DE || BC, TfE 2B = 30°, 2A = 40°, A BT x,
y,z%ﬂﬁﬂﬁmﬂl

e ¥




S

£X° = 30° (T I0N)

AADE ¥,

2X°+22° +40°=180°

30°+ £2z° + 40° = 180°
22°+70°=180°
£z2°=180°-70°

£4z°=110°

3 2y° = £22° = 110° (T PO

Uy o.
reqifepd A & 2C APV CD L AB B 2A = 65°, Y Awiferd vl & A J1d BT

A D B

(i) zACD

(i) zBCD

(i) 2CBD

Td:

(i) ACAD T

2CAD + 2CDA + 2ACD = 180°
3{d: 65° + 90° + ACD = 180°
155°+ 2ACD = 180°

2ACD =180°-155°

2ACD = 25°

(i) AABC H,
2ACD + «BCD =90°
25° + £BCD = 90°



£BCD =90°-25°
3{d: ,BCD = 65°

(i) ABCD H,

+BCD + 2.CDB + «CBD = 180°
65°+90° + CBD = 180°
155°+ 2CBD = 180°

2CBD =180°-155°

+CBD =25°





